Key Area 3

Key Area 3 can be assessed in Part A and/or Part B of the examination.

This section may take a long time to complete, especially External Balance.

· Macroeconomic Objectives and Their Measurement

· One option would be to teach the phases and indicators of the Business Cycle before starting this section.

· The basic structure is the same for all four goals – definition (notion); indicators; causes; and effects.

· When discussing methods of calculating gross domestic product, it may be helpful to introduce the circular flow model to illustrate the three different methods.

· While the financial and capital account of the Balance of Payments is not required, it may be useful to help explain the impact of capital flows.

· The Exchange Rates –link back to the price mechanism model when discussing fixed, managed and floating exchange rates (discussion should not be limited to the Australian economy).

· Causes of external imbalance (significant deficit and surplus on the current account) could be categorised into cyclical (domestic and overseas) and structural.  This assists when teaching the policy responses to problems.

Macroeconomic Objectives

There are 4 basic Macroeconomic objectives that you will cover.    Those being:

· Full employment of labour

· Price Stability

· Economic Growth

· External Balance

Each of these objectives will be broken into 4 distinct areas, those being

Definition – including the objective and target rate

Indicators – different ways of measuring the objective

Causes 

Effects

Introducing the AD/AS model
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$
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Real GDP

What is happening on this graph to Real GDP and Price?

What do you think the implications of this will be for Employment?  Why?

Week 9 – The Full Employment of Labour

Full Employment Objective – definition 
We would normally think of full employment as when everyone who wants a job has a job.  Unfortunately this in not practical nor is it possible.  An unemployment rate of 0 is impossible even in a strong economy since there will always be people moving between jobs, seasonal work and the way that the workplace is changing with technology.

Economists think of full employment as the level of unemployment where inflationary pressures don’t arise.  This is known as the Non-accelerating Inflationary Rate of Unemployment (NAIRU). It is not an easy thing to measure and it varies between countries and over time depending on the state of their economy.  Generally it is between 5%-6%.  This means that there is an acceptable level of unemployment in the economy, sometimes known as the natural rate of unemployment.

When looking at the objective then of the economy in terms of unemployment the Government has a ‘target rate’.  Currently in Australia this is 5%.  Achieving lower or higher than this will adversely affect our economy.

Full employment is an objective because:

· Increasing employment allows production to increase and therefore helps in achieving the economic growth objective.

· It is part of using all of our resources efficiently and achieving our production possibilities

· It provides households with an income and improves living standards

· Unemployment has considerable costs for the individual and the nation.

Indicators

The most important indicator for the full employment objective is the unemployment rate.  

Unemployment rate

The official unemployment rate is calculated monthy by the ABS by chosing a random sample of approximately 0.6% of Australia’s population.  They use the following criteria.

To be classed as employed you must be over 15 years old and in that week:


Have worked for pay for at least 1 hour 


Or, worked one hour unpaid in a family business or farm


Or been prevented from working for unusual circumstances E.g. illness or strikes

To be counted as unemployed you must:


Not be currently employed


Be actively looking for work


Be available to start work if a job becomes available

People who don’t fit this criteria are often full time students, housewives, prisoners retirees .  They are not considered part of the labour force.

The labour force is defined as those people who are over 15 who are willing and able to work.  The labour force shows both employed and unemployed people.
Activity

In the space below, draw a flowchart that shows the who is involved in the labour force and how.

The unemployment rate then is calculated as

UR = Total number unemployed / labour force x 100

The ABS also collects information on the following:

· Full time workers – those who work 35+hrs a week

· Part time workers – those who work <35hrs a week

· Long-term unemployed – unemployed for 52 weeks +

· Underemployed – those who want to work more than they are

Participation rate

The participation rate measures how many people as a percentage of the population are in the labour force.  It can be calculated by
Participation rate = labour force / population over 15 x 100

This has a strong influence on the unemployment rate.  E.g. if unemployed people become discouraged they will simply drop out of the labour force hence lowering the participation rate and decreasing unemployment when in actual fact unemployment has increased.  

Problems with the indicators

There are a number of problems with the indicators including the accuracy of the figures.

INSERT PG 60 FROM GREEN BOOK – limitations on UR

Activity

Assume the following information applies to an economy:

	
	Year 1
	Year 2

	Total population
	19 m
	19.5 m

	Population over 15
	15.7 m
	15.9 m

	Employed
	9.5 m
	9.8 m

	Unemployed
	0.61 m
	0.65 m


Calculate the following:

Unemployment rate for each year

Participation rate for each year

Explain why the number of employed people has rise but the unemployment rate also increase in this case

What is Australia’s current Unemployment rate.  Look up the ABS website.
Define the following terms

· Unemployment rate

· Participation rate

· Natural rate of unemployment

· Labour force

Why is the ABS definition of unemployment regarded as narrow?

Causes of Unemployment

People become unemployed for a number of reasons.  Understanding the different types of unemployment allows the government to choose appropriate policies to address the problem
TYPES OF UNEMPLOYMENT

Activity
Classify the following people into unemployment groups

	Example
	Type of Unemployment

	Julie is looking for work after several years raising her kids
	

	Heidi has lost her job due to getting her students to cheat in their exams for Kumon
	

	Laura has left her job at the conservatorium and is picking up a job managing Glenelg McDonalds
	

	James is out of work as a ski instructor at the end of the ski season
	

	Dan has lost his job at bugs r us (competitor to not just bugs) due to new technology being introduced to breed bugs
	

	Tobi has difficulty finding work because he has 3 arms
	

	Cathy has quit her position as an advertising executive and is considering several job offers
	

	Sarah is finding it difficult to find work as a computer programmer in Port Pirie, although there are jobs in Adelaide
	


Explain why there might still be unemployed people even when demand is high and there are jobs available
Changing employment trends
INSERT CHANGING EMPLOYMENT TRENDS – PG 13-16 OAC notes

Effects of Unemployment

INSERT PG 234-236 of practical economics text

Activity

What are the effects of unemployment on the economy in terms of:

· Production and satisfaction of wants

· Productivity of labour resources

· Future production

· Economic Growth

· Opportunity cost of welfare payments

· Government revenue

· Social costs

What would be the effects of unemployment on the individual?

Draw a mind map on a blank piece of paper or in your book making sure that you link the following words around the general theme of “The full employment objective”.

In your mind map make sure you include all the following words (you don’t need to limit it to these):
Labour force

Participation rate

Unemployment rate

Reasons why its an objective – there are at least 4

NAIRU

Target rate of 5%

Characteristics of the ABS definition to be employed/unemployed

Limitations of the ABS definition – there are at least 3

Structural unemployment

Cyclical unemployment

Frictional unemployment

Seasonal unemployment

Hard core unemployment

More women in workforce

Social attitudes to work

Casualisation

Production and satisfaction of wants

resources
Productivity of labour 
Future production
Economic Growth

Opportunity cost of welfare payments

Government revenue

Social costs

A good idea would be to divide the mind map under areas of Definition, Indicators, Causes and Effects

Week 10 – Price Stability
Price Stability objective – Definition
When talking about price stability we are talking about inflation and deflation in the economy.  This is also known as the general trend in the prices of goods and services.  Are they increasing or decreasing.

In theory price stability means that prices don’t change and that the inflation rate is zero.  However, this is undesirable because it will limit economic growth and employment.  Prices rise when income, demand and production increase.  While rapid price rises can be dangerous to the economy, a low rate of inflation that is manageable is therefore desirable.

The government therefore sets a target rate of 2-3% inflation over the course of the business cycle.

Measuring Inflation – Indicators 
To monitor our achievement of the price stability objective the CPI is used to calculate just how much goods and services are rising or falling in Australia.
The CPI measures a basket of goods and services that represent average consumption spending.  It is published every quarter by the ABS.  The simplest way to think about the CPI is to think about goods and services that are typically bought by households.  As prices change, the total cost of the basket will change.  The CPI is just a measure of the changes in the cost of this basket over time.
The groups of goods that make up this theoretical basket (or regimen) is decided by surveying metropolitan wage earning households.  It is divided into 10 major groups as follows:

· Food

· Clothing and footwear

· Housing

· Household furnishings, supplies and services

· Transportation

· Alcohol and tobacco

· Health

· Recreation

· Education

· Communication

· Miscellaneous

All items on the list are revised every 5 years to make sure that they are still relevant.  It allows for changes in spending patters.
Each quarter the ABS collects about 100,000 prices from various retail outlets throughout Australia’s capital cities.  These prices are then applied to the basket of goods to determine the price index.

Limitations of the CPI

· The survey only includes a sample of all goods and services consumed in the economy therefore its not perfectly accurate
· The published inflation rate will not accurately reflect the costs of living for each individual.  E.g. a smoker will be more affected by a price rise in cigarettes than and non-smoker

· Doesn’t allow for changes in quality to products

· The rate is published 6-8 weeks after the end of the period being calculated.  

· Its only based on metropolitan wage earners and therefore the rural communities are excluded meaning a non-accurate result.

· Only shows the average price change and not the change for each individual product.  Some prices may change more or less than the average E.g. Banana’s after Cyclone Larry in 2006.

Activity
Insert graph from pg 26 OAC resources

Briefly explain the governments price stability objective

According to the graph:

When was the annual rate of inflation at its highest?

Explain what was happening to prices in mid to late 1997

Suggest reasons for why this happened

What one off event caused the spike in prices in 2000-2001?

Over the period show, how well do you think the price stability objective was achieved?

What is our current rate of inflation?

Causes of inflation
Demand pull inflation
Demand pull inflation occurs when the demand for a good or service increases.  This will happen when demand is greater than supply.  Therefore, when more people want the product and there is only limited supply, the price will increase.
Demand pull inflation focuses on the demand side of the supply and demand curve



What has happened to the price level?







_________________________________







_________________________________







_________________________________



This usually occurs when there is a booming economy.  It can be caused by:

· High incomes

· Low interest rates

· Increased government spending

· Improved business confidence

· Increased population growth

Cost push inflation
Cost push inflation focuses on the supply side of the supply and demand curve.

This relates directly to the costs of production.  When costs of production increase firms are not willing or able to supply as much to the market.  Hence, there is a higher price charged for these products.  






What has happened to supply?
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How has this affected the price level?
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_________________________________







_________________________________

Increased costs of production can be caused by things such as


Wage increases E.g. Awards


Lower worker productivity


Increased cost of materials 


A fall in the $A thereby making importing goods for production more expensive


Higher interest rates which increase the costs of paying off loans on machinery


High rates of company tax

All these costs incurred by firms are then passed on to the consumer in the form of higher prices.

Effects of inflation
Increased prices will have many effects on businesses and households .

Reduced real incomes.

Inflation reduces the purchasing power of money.  E.g. I remember buying a can of Coke in the 1980’s for 60c, now, that 60c will buy me hardly anything.  Therefore, incomes need to increase with the CPI, if they don’t then the living standards of those people will decrease.  This happened with teacher from the 1970’s – 2000’s.  Their pay rate did not keep up with CPI and therefore their living standards dropped.  
Redistribution of income

When products are increasing in price it is most likely that people will take their money out of the bank and put it into assets (E.g. houses or shares).  The reason for this is that as the real value of money decreases, the assets are increasing in value.  
E.g. if you were to have $1000 in the bank, in a years time you would still probably only have $1000 in the bank.  However, if you were to invest that $1000 in Jewellery for example, the value of your money may increase as the value of the Jewellery may be $1,500 in a years time.  You have made $500.

In addition to this, times of high inflation will be beneficial for borrowers because the real value of their loan would be less as time goes on.  E.g. my parents bought their first block of land for $8,000.  They could pay this off easily now from a couple of months work.  However, in this instance the banks lose out, therefore they will charge higher interest rates in times of inflation.

Less saving and investment
Inflation discourages saving because of the increased cost of goods and services and also because people will be spending their money instead of saving it, particularly if they think prices are going to rise in the future.  If saving decrease there will be less funds available for investment.  
Inefficient use of resources

High levels of inflation cause firms to move their resources into non-productive assets such as property rather than productive assets which employ people such as machinery etc…  Resources therefore tend to be wasted.  This is negative for economic growth.  

Lack of competitiveness internationally

If our products become relatively more expensive our trading partners will hesitate to do business with us because our exports are too expensive.   This will therefore reduce economic growth and also worsen our trade balance.  High inflation may also damage our international reputation.

Effects of income tax

As people get higher incomes because of inflation the taxation system needs to be continually updated to accommodate for this.  If it is not, some people may be forced into a higher tax bracket and be no better off than they were before the pay increase.  This is known as bracket creep.

Activity

Briefly explain the effects of inflation on the following:

· Savings

· Investment

· Production

List the groups who would be winners and losers in times of high inflation

	Winners
	Losers

	E.g. Property owners

High rates of inflation can lead to a redistribution of income in favour of these groups
	E.g. holders of monetary assets

High rates of inflation can lead to a redistribution of income against these groups


Why is price stability and important objective for the Australian economy?

How does inflation affect the ability of households to spend?

How does inflation affect the ability of firms to export?

Differentiate between cost push and demand pull inflation.

Draw a mind map on a blank piece of paper or in your book making sure that you link the following words around the general theme of “The price stability objective”.

In your mind map make sure you include all the following words (you don’t need to limit it to these):

Inflation
Deflation

Zero inflation undesirable

Target rate of 2-3%

CPI

ABS

Metropolitan

Quarter (as in segments of the year)

Limitations of CPI

Demand pull inflation – include diagrams and causes

Cost-push inflation – include diagrams and causes

Reduced real incomes

Redistribution of income

Saving

Investment

Inefficient use of resources

International competitiveness

Income tax

A good idea would be to divide the mind map under areas of Definition, Indicators, Causes and Effects 

INSERT EXTENSION ACTIVITY – Pg 32-33 OAC
Week 11 – Economic Growth
Economic Growth Objective – Definition

Economic growth means a total increase in the output of goods and services produced in an economy over time.  The governments aim is to produce as much Economic Growth as possible without negatively affecting any of the other objectives.  At present, the government has a target rate of 4-5% per year.  
Growth less than this would likely impact negatively on the full employment objective and hence lower living standards, while a higher growth rate will cause high inflation and external balance problems.

This objective is important because:

· Increases in production mean growth in employment

· Growth leads to an overall increase in the standard of living in society

Measuring Economic Growth – Indicators
Gross Domestic Product (GDP) is the measure used to determine how much economic growth we have made over the past year.  This is a measure of all final goods and services produced in an economy.  GDP figures are produced quarterly by the ABS.

GDP falls short of determining how much growth we have made.  Take the following example.  Shemville (a small island in the pacific) in 1980 had a GDP of $10bn while last year they had GDP of $40bn.  Their living standards haven’t changed much, but they’re producing a lot more GDP than they were back in 1980.  Why?  The reason is because of inflation the dollar amount produced has increased, however, in real terms there is hardly any difference.

In order to overcome this problem, economists use a figure called Real GDP which takes into account the costs of inflation.  Therefore, you can get a far more accurate picture of how your economy has grown over time.
Activity 
Briefly explain the governments economic growth objective

INSERT GRAPH FROM OAC RESOURCES – PG 42
According to the above graph:

· When was the highest rate of annual growth of real GDP?

· When was the lowest rate of annual growth of real GDP?

· Explain what happened in December 2000

· Over this period, how well do you think the economic growth objective was met?

What is the current rate of Economic Growth?

Measuring GDP 
GDP is measured by three methods.  Each method however will give different figures.  It is best, in order to get the most accurate figure to use the average of all three methods.  The methods are as follows:
The income method:

This method adds up the income of every individual in the economy.  Individuals earn income by selling resources, firms buy resources to produce goods and services.  This revenue is then paid out to buy more resources and make profit.  Firms also pay profit to owners.  Therefore every dollar of sales revenue is paid to individuals as income
The expenditure method:

This method adds up all expenditure on final goods and services produced.  It includes:


Consumption spending


Investment spending


Government Spending


Export spending


Spending on Imports is deducted as they are not part of Australian production

Therefore, GDP = C+I+G+(X-M)

NB – You will come across this formula again later in this topic!

The Production method:

This method adds together the total value added by each firm in the production process.  GDP therefore is calculated by adding together what each firm has contributed less what it has cost them to make it.

E.g.  If a sugar farmer keeps seeds from last years crop, sows these and eventually sells the sugar cane for $80,000, the farm has added $80,000 to the value of the seeds.  $80,000 is counted as the farms contribution to GDP.  A sugar mill may buy the sugar cane for $80,000 and then produce the sugar and sell this to Coles for $120,000.  The sugar mill has added $40,000 of value.  Coles may then sell it to the consumer for $140,000 adding another $20,000 of value.  
Total value added by these firms is therefore $160,000.  If the economy only consisted of these three things then GDP would be $160,000.
Contributors to GDP

The largest (60%) and most stable component of GDP is consumption spending, whereas investment by firms is highly volatile (susceptible to changes in interest rates economic forecasts and general level of confidence).  Exports have grown in recent years to comprise around 25% of our GDP. 

Limitations of GDP

GDP figures are only an estimate of the actual level of production in an economy.  Some of the limitations of measuring GDP are as follows:

Time lag

National accounts such as GDP figures are put out after the event (generally about 2 months).  Therefore the figures are out of date and not 100% accurate

Accuracy

Most items are bought in a market, however, many are not which can further affect the accuracy of GDP figures.

Undeclared items


The black economy operates largely to minimise taxation or get around certain restricting laws.  E.g. providing services for ‘cash’.  This is not included in GDP figures

Household production


Goods and services produced at home are also not included.  This includes such things as child care, home maintenance, cleaning, garden produce etc…

A report in 2007 showed that ‘stay at home mums’ contribute the equivalent of $160,000 per person.  

Are our GDP figures really reliable if this massive resource is not acknowledged?

Illegal products


The black market operates to sell such things as drugs, pirated copies of cd’s, dvd’s.  Sales of these are kept secret and therefore are also not calculated in GDP figures

Charity work


The value of charity work is included in GDP however these are only estimates and not the real figures.

Activity

Briefly explain how GDP is measured

What are some of the major problems with current calculations of GDP?

What are some possible ways these problems could be overcome?

Complete the following table from the scenario

Farmer Jesslyn and her band of pigs decide to change from pig farming (because that’s just cruel) to wheat farming.  Jesslyn and her band of pigs purchse seed from their neighbour (farmer Heidi) from her previous years crop for $10,000.  Once this seed has grown, Farmer Jesslyn and her band of pigs sell the wheat for $80,000.  James Taylor who owns a mill buys the wheat for $80,000 then sells it to Shem’s night caps bakery for $95,000 who then produces $109,000 worth of bread.

	Producer
	Product
	Input cost
	Market price
	Value added

	Farmer Heidi
	Seed
	Nil.
	
	

	Farmer Jesslyn and her band of pigs
	Wheat
	$10,000
	
	

	James Taylor the Miller
	Flour
	
	
	

	Shem’s night cap bakery
	bread
	
	
	


Calculate the GDP using the 3 different approaches

Production method - 

Income approach

Expenditure approach

Answer the following questions using the table below on Real GDP for selected countries % change

INSERT TABLE ON PG 46 OF OAC BOOK
From the table

· Which country recorded the highest level rate of economic growth for the period shown?

Country……………..........
Year………………
Rate of growth…………….

· Which country recorded the lowest rate of economic growth for the period shown?
Country………………….
Year……………..
Rate of growth…………….

How does Australia’s economic growth compare with other nations?

Effects of Economic Growth
Using your text book and hand out sheets, summarise how the following issues are costs or benefits of Economic Growth.

Benefits

· Standard of living (measured by the consumption of goods and services in a period)

· Less absolute poverty

· Greater Tax Revenue

· Higher Educational Standards

· New Technology

· Increased Production Possibilities 

· Higher level of employment

Costs

· Environmental degradation

· Created wants

· Inequality

· Social costs

· Possible inflationary pressures

· Possible external balance problems

· Greater use of resources

Draw a mind map on a blank piece of paper or in your book making sure that you link the following words around the general theme of “The Economic Growth objective”.

In your mind map make sure you include all the following words (you don’t need to limit it to these):

Economic growth

4-5%

Unemployment

Inflationary pressures

Demand

GDP 

Real GDP

Income approach

Expenditure approach

Production approach

C+I+G+(X-M)

Circular flow model

Limitations of GDP – you will need to outline what these are on the mind map

Black economy

Double counting

Benefits of Economic Growth – you will need to outline what these are

Costs of Economic Growth – you will need to outline what these are

A good idea would be to divide the mind map under areas of Definition, Indicators, Causes and Effects
Week 12 – External Balance
Definition
External balance is the ability of a nation to ‘pay its way’ in its financial transactions with the rest of the world.  This means that a country should be able to pay for its imports and other overseas payments from other money received through exports and other sources.  External balance is a balance between money inflows and money outflows.

Money flows to and from Australia are recorded in the balance of payments which is published by the Australian Bureau of Statistics each month.  It contains both capital flows and current flows.


        Inflows






    Outflows
$







$

	
	Inflows

Money inflows result from
	Outflows

Money outflows result from

	Current flows
	· Export earnings

· Receipts of income payment
	· Import spending

· Income paid to overseas investors

	Capital flows
	· Foreign investment

· Borrowing
	· Investment overseas

· Loan repayments


The external balance objective therefore is to achieve a balance between inflows and outflows.  
This ‘balance’ however can not be equal i.e. it can not be $1bn inflows and $1bn outflows.  At present, we have a deficit every month which is primarily form foreign investment on which we need to pay income.  This is good because it increases economic growth.  
Foreign investment is desirable in our economy and is encouraged and so, an external imbalance is good.  (More money is going out than is coming in).  This is Ok so long as the rise in debt is met with a proportional rise in GDP.

The external balance objective is to achieve a CAD of between 3-6% of GDP.  Any more than this and economic managers will need to take action.

The external balance objective is a stable Current Account Deficit as a percentage of GDP.

Indicators of external Balance

There are three basic indicators of External Balance in our economy:

1. The Current Account Deficit

This is a part of the Balance of payments (discussed below) which measures Australia’s transactions with the rest of the world.  The government tries to avoid a large Current Account Deficit and aims at a target of 3% of GDP, however, a deficit of up to 6% is manageable.

2. The exchange rate

This is the value of the Australian dollar against other currencies (E.g. $US).  It is good to have a steady exchange rate as if it fluctuates too much then it will negatively affect other elements of the economy.

3. Overseas debt

This is what Australia owes to other countries minus what we’re owed.  The government aims to avoid large Net Foreign Debt (NFD) that is not sustainable.  It is expressed as a percentage of GDP.

Activity
1. Explain in general terms what external balance is and with specific mention of the three indicators

The current account 
Before we can look at the current account deficit, we first need to address what the current account is and where it fits into the balance of payments.  
The Balance of Payments is a published each month by the ABS and shows all Australia’s economic transactions with the rest of the world.  These economic transactions include:

· Imports and Exports of goods and services

· Income flows such as interest and dividends

· Financial flows such as increases in debt or investment in shares

· Transfers, such as foreign aid

Items in the balance of payments are grouped according to the type of transactions.  Money inflows are recorded as credits, while money outflows are recorded as debits.  The structure of the Balance of Payments can be shown as follows:

[image: image1]
The Current account is the focus of this course, and as such this ought to be focussed on in priority to understanding the overall balance of payments.

The Current Account

The Current account measures money flows between Australia and the rest of the world that have current economic impact.  That is, they will affect the economy straight away.  

The current account is divided into four  main areas these are:


1.  Goods

The difference between total value of exported goods and imported goods is called net goods or balance of trade

Examples of goods Australia exports include:

Examples of goods Australia imports include:

2. Services

The difference between the total value of services received by Australia and services paid overseas is called net services

Examples of services Australia exports include: 

Examples of services Australia imports include: 

3. Income

The difference between income received and income paid is net income

Example of income Australia receives

Examples of income Australia pays

4. Current transfers

Current transfers involve money that is not related to any economic activity.  E.g. A current transfer inflow would be a pension given to an Australian resident from overseas, while a current transfer outflow could be foreign aid given to a developing nation.

The current account therefore can be displayed as follows:




Australia as a whole has had a deficit on its current account in the most years.  This shows that the nation as a whole has been paying more overseas than its been receiving.  To fund this short fall, Australia needs to borrow money from overseas.  These capital and financial flows are recorded in the capital and financial accounts in the balance of payments.
The Capital and Financial Accounts
These two accounts deal with transactions that are longer term in nature

The Capital Account

The capital account records capital transfers and the acquisition of non-produced, non-financial assets.  Capital transfers are longer term in nature E.g. migrant transfers.  Examples of non-produced, non financial assets include selling embassy land or copyright.

The Financial Account
The Financial account records transactions that are financial in nature (our assets and liabilities).  This includes borrowing from overseas, buying or selling foreign shares, foreign investment in Australia and foreign exchange dealings.

The deficit on the current account in Australia is matched by a surplus balance on the capital and financial accounts.  This reflects that the current account deficit has to be financed from overseas borrowing or investment.  Basically, the surplus on the capital and financial accounts finances the deficit on the current account.
Activity
1. Classify the following transactions by naming the correct section of the current account:

	Transaction
	Current account subsection
	Inflow or Outflow

	BHP sells iron ore to a Japanese manufacturer
	Goods


	Inflow

	Adelaide University of offers places to fee paying students from overseas
	
	

	Government pays a pension to Australians living overseas
	
	

	Australia donates aid to victims of the Tsunami
	
	

	Interest paid by your grandparents on a loan they took out overseas
	
	

	Australia buys Crude Oil from overseas
	
	

	A US company in Australia sends back profits for its shareholders
	
	

	An Indian company is hired to provide call centre services for Telstra
	
	

	British back packers visit the Great Barrier Reef
	
	

	Toyota pays for insurance from QBE

	
	


2. The following are hypothetical current account figures
$m

Exports




250
Net goods




-76
Service debits




-42
Service credits




-15
Income debits




-400
Net income




-250
Current transfer credits


60
Net current transfers



10
Use the above figures to calculate

a) Imports

b) Net services

c) Balance on goods and services

d) Income credits

e) Current transfer debits

f) Balance on current account

3. What would be the balance on the capital and financial account?  Why?

The impact of capital flows
Capital flows both into and out of the Australian economy, however, there is far greater inflow than outflow.  

Investment finance

About half of all funding for investment in Australia comes from overseas since the amount of national savings is insufficient to finance total investment spending.  In other words the gap between the funds available in Australian financial institutions and funds needed for investment.  This gap is filled by foreign investment.

Foreign investment is very valuable to the Australian economy.  It develops resources and facilitates production that would otherwise not occur.  It allows Australian firms to expand and export.  

Foreign funded economic development promotes employment and helps the economy achieve all of its macroeconomic objectives.  It is for this reason that foreign investment is encouraged by the government.

Income transfers
· Income repatriation

Capital flows into the economy result in income payments.  Foreign investment creates future outflows of income.  So, while foreign investment is good, we need to realise that this growth needs to be paid for.  Loans need to be repaid with interest, foreign shareholders in Australian companies will be paid dividends, foreign owners of companies receive profit payments, employees of foreign companies operating in Australia will receive income, foreign owners of real estate will receive rent payments etc…
· Current Account Deficit (CAD)

Income transfers contribute to the CAD.  Of the two major contributors to the CAD, the trade balance and net income transfers, Net income transfers is by far the greater proportion of the two

· Foreign debt

The national foreign debt is the amount of money owed overseas by Australians.  In each period though, as well as the CAD there are also former loans that need to be repaid.  If new borrowings exceed payments on old borrowings then foreign debt will rise.  This is expressed as a percentage of GDP as inflation has a significant impact on these figures.
· Foreign ownership

Another impact of overseas investment into Australia is that we may end up losing Australian ‘icons’ such as Vegemite to overseas companies.  When a foreign firm has over 50% control of an Australian company, all decision making power flows to them and Australia has effectively lost control of the company.
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Indicators of External balance
As previously mentioned, there are three indicators of external balance, those being, the Current Account Deficit (CAD), Net Foreign Debt (NFD) and the exchange rate.

Current Account Deficit

Australia has always had a CAD and therefore has always had external imbalance.  The size of the CAD measures the extent of the external imbalance.  We should expect the CAD to increase every year in proportion with GDP.  External imbalance is only seen to worsen if the deficit increases as a proportion of GDP.  

A reduction in the CAD has to be sustainable, otherwise improvement in external balance has not been genuinely achieved.  E.g. if the $A dropped to 50c then exports would increase but imports would decrease.  As a result, less money is going to be spent on improving living standards and seeking investment from overseas since our dollar doesn’t buy as much.  This reduction in the CAD would not be sustainable.

The target rate for the CAD is about 3-4% of GDP.  When it gets up to about 6% then economists become concerned and a range of solutions are put into place.  

A common solution is to raise interest rates.  This dampens consumption and investment spending and hence reduces import spending.

Net Foreign Debt

Economists use this indicator in addition to the CAD.  It measures different things.  This indicator doesn’t measure the size of the debt, but rather, its proportion to GDP and the uses to which borrowed funds are put.  Are they productive or not?

The indicator used is Net foreign debt as a percentage of GDP.  This is the total owed by Australians overseas less the total debts owed by foreigners to Australians.

The table below shows the change in NFD as a percentage of GDP over s 6 year period the CAD shows the same period.  Note that they don’t increase or decrease together.  This is because they don’t indicate exactly the same things.  Economists use both in determining external balance.

	Year
	1997
	1998
	1999
	2000
	2001
	2002

	NFD (% of GDP)
	40.6
	39
	43.4
	45.7
	46.3
	48.8

	CAD (% of GDP)
	4.1
	5.7
	5.1
	2.8
	3.1
	5.6


The Exchange rate
The third indicator of how well Australia is able to balance financial inflows and outflows is the value of the Australian dollar.  If total inflows and outflows are balanced, the exchange rate doesn’t change.  A stable exchange rate indicates to others around the world that the Australian economy is healthy and Australian currency and production are worthwhile investments.

When the exchange rate fluctuates too much investors become wary and don’t invest.  E.g. If an Italian restaurant in Venice wanted to import wine from McLaren Vale and the exchange rate today was $0.93 but tomorrow was $0.80 as they would be losing money.  i.e. they could have bought more wine one day later for the same amount of money (Euro’s).

When outflows exceed inflows, the dollars exchange rate falls, and it increases when inflows exceed outflows.  In this way, the movement of the exchange rate indicates external balance.

Australia’s dollar is usually measured against the $US, but is also measured against the TWI (Trade weighted index) which is the value of $A against its major trading partners.  The TWI gives a better indication of the value of the $A than measuring it against one currency.

	Exchange rates for the $A as at April 2008

	Currency
	1 $A worth

	US dollar
	0.946

	UK Pound
	0.478

	Euro
	0.597

	Japanese Yen
	98.02

	TWI
	71.3


What has been the recent trend for the $A against:  Use the following link

http://www.rba.gov.au/statistics/exchange_rates.html 
The $US

The TWI

Determination of the exchange rate

In 1983 Australia’s government introduced a floating exchange rate, meaning that it was now subject to market forces of supply and demand.  Previous to this the government had set the rate of the $A which would not change unless the government said so.  Now there is no government control, however occasionally the RBA may step in to the exchange market to try and influence the value of the dollar.  This is known as a ‘dirty’ or managed float.

As the exchange rate is a price, it can be analysed by considering the forces of supply and demand.

Demand for the $A

Demand generally comes from foreigners wanting the $A so they can spend it in Australia or on Australian products.  Demand therefore is linked with inflows.
Demand for the $A may come from

· Foreigners wanting to buy goods or services produced in Australia E.g. wine from the Barossa Valley

· Foreigners wanting to purchase assets E.g. A Chinese Billionaire buying a small island in the Whitsundays

· Foreigners wanting to invest in bonds or securities because there are high interest rates

· Overseas tourists come to Australia

· Speculators buy the $A in anticipation that it will increase.
Supply of the $A

Supply comes from Australians selling their $A overseas to buy currency they need to purchase overseas goods or services.  Supply is associated with outflows.
Supply of the $A to the world market may come from

· Australians importing goods or services.  E.g. Sanity imports CD’s from the US
· Australians purchase overseas assets E.g. buying a home in South Africa

· Australians invest overseas

· Australians go on overseas holidays

· Speculators sell the $A in the expectation that it will fall

The exchange rate therefore can be determined using the supply and demand diagram

Like any other supply and demand diagram, the exchange rate appreciate if there is an increase in demand or a decrease in supply of the $A.  It will depreciate if there is a decrease in demand or an increase in supply.


$   Inflows





Increases Demand

$   Outflows





Increases Supply
Factors affecting the exchange rate

· Relative inflation rates – High inflation rates compared to our trading partners makes our exports more expensive and therefore less competitive (affecting Demand) while imports will be cheaper (affecting Supply)
· Relative interest rates – High interest rates will attract borrowers from overseas who want to invest in Australia
· World growth – Demand of Australia’s exports depends on how the world is growing.  If there is high growth then more of our exports will be purchased, hence increasing demand for the $A
· Commodity prices – Changes in the prices of wool, wheat, iron ore etc… will affect Australia since much of our economic activity centres around these industries
· Level of economic activity in Australia – Increased economic activity generally results in increased demand for imports to increase our standard of living.  This will affect the supply of the $A in the market.
· Reserve Bank intervention – The RBA can buy or sell $A to influence the value of the $A if they think that it is rising or falling too rapidly.  Though this is rarely done.
· Terms of trade – This shows the relationship between prices received for exports and prices paid for imports.  They indicate the volume of exports needed to finance a given amount of imports.  When the price of exports rises faster than that of imports then our living standards improve because we can buy more.  Demand for $A increases and the exchange rate will appreciate.  The reverse will happen if the price of imports rises faster than that of exports
· Repayment of foreign debt – The repayment of foreign debt puts downward pressure on the exchange rate as it is increasing the supply of $A to the market.
· Speculation – Speculators aim to make a profit by buying and selling the $A in anticipation of future changes.  If they expect the $A to appreciate they will buy it (increasing demand) or if they expect the $A to fall they will sell it (increasing supply)
Activity
Show the effects of the following on the exchange rate for $A on the diagrams provided






	Occurrence
	Impact on $A
	Impact on Balance of Payments

	
	D
	S
	
	
	Appreciate or Depreciate
	Current, Capital of Financial a/c
	Category

	Australian interest rates increase 
	
	
	
	
	
	
	

	20% increase in all tariffs
	
	
	
	
	
	
	

	Increase in migration
	
	
	
	
	
	
	

	Drop in Demand for exports
	
	
	
	
	
	
	

	Asian investors buy out 
	
	
	
	
	
	
	

	$3 Billion interest paid on foreign debt
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Effects of a depreciation (NB – the effects of an appreciation are the opposite)
Exports are cheaper and therefore more attractive
· Export revenue will increase 
· An increase in export revenue and a  decrease on import spending is good for external balance and will decrease the CAD

Imports are more expensive, maybe reducing demand for imported consumer goods

· This could be negative for industries highly reliant on imports. 
Import-competing industries are better off (E.g. increased demand for cars made in Australia instead of foreign cars)

· Since imports are more expensive, those businesses who compete with imports will thrive
Local production and employment should increase

· This makes international competitiveness increase as our export industries expand causing new jobs.
· Spending from Australians switches towards home grown products because they’re cheaper, hence increasing economic growth.

Foreign investment into Australia becomes more attractive because of the strengthening economy and cheaper costs of entry

· Capital inflow into Australia will increase which will also cause an increase in interest rates to dampen the economy if it gets too ‘strong’
Possible inflationary effect

· Cost push inflation will occur as costs of imported components flow onto increased prices of finished products
Foreign debt becomes comparatively larger

· More $A are needed to pay off the debt, so the debt is increasing.
Groups affected by a depreciating $A

	Winners
	Losers

	Exporters
	Importers

	Investors in to Australia
	Australians travelling overseas

	Import-competing industries
	Those investing overseas

	Unemployed persons (job prospects improve
	International traders paying freight to overseas shipping companies

	Tourists visiting Australia
	Those borrowing overseas and paying interest on debt


In relation to the following groups, show if they are likely to be winners or losers from a strongly appreciating $A

	Group
	Winner
	Loser

	Tourists coming to Australia
	
	

	Australians investing overseas
	
	

	Importers of Korean cars


	
	

	Exporters of Australian wine
	
	

	Australian consumers.  Explain


	


Complete the table below to show the effects of a depreciation of the exchange rate
	Effects of exchange rate changes

	
	Appreciation
	Depreciation

	Exports
	More expensive
	

	Imports
	Cheaper
	

	CAD
	Worsens
	

	Employment
	Falls
	

	Inflation
	Falls
	

	Economic Growth
	Falls
	

	Foreign Debt
	Falls
	


Causes of External Imbalance
External imbalance occurs when there is
· A large current account deficit 

· An unstable exchange rate, particularly if its depreciation

· An unsustainably high net foreign debt

All three of these issues are inter-related.  A rise in the CAD is likely to be largely financed by overseas borrowings which will increase foreign debt.  Increased foreign borrowing will put downward pressure on the exchange rate.
The Current Account Deficit
Australia has always had a deficit, meaning that we have always spent more than we have earned.  This debt needs to be sourced from somewhere, and that is through foreign investment in Australia or through borrowings overseas.

Causes of the CAD

· Income transfers – The interest bill on our existing debt is so high that interest repayments will ensure a CAD well into the future.  This is the largest part of our CAD
· Low level of savings – We don’t save enough to finance our own investment from within Australia.  Therefore we need to borrow money from overseas to compensate.  This is particularly the case when interest rates are high.  Cheaper sources of money will be sought overseas.  This happened n Australia in the 1980’s when interest rates were at 18%.   Another source of finance is through direct investment from overseas.  Although we’re not borrowing money, it still means that dividends and profit will be lost to overseas companies.  
· Adverse terms of trade – Our export industries are largely primary and rural industry.  This means they are largely subject to natural disasters such as drought, cyclone, flood etc… while our imports are largely technologically based.  This means that if we do have a natural disaster then our exports will go down, but our imports wont change, hence increasing inflows into Australia and worsening our CAD.
· Inefficient manufacturing industries – In the past tariffs have protected our manufacturers and hence they have not had to become internationally competitive and were quite inefficient.  This then lead to poorer quality products at inflated prices, hence there was not a lot of purchase of our exports.  This is starting to change through microeconomic reform (covered later in the course)
· Services – In the past Australia had a large deficit on net services due to the lack of international service industries, particularly insurance and transport.  This has now largely been eliminated due to tourism, education and financial services, however these past borrowings still have an impact on our CAD today. 
· Valuation effects – As the dollar increases or decreases against the $US (which most of our borrowing is in) then if the $A depreciates we will need more money than previously to pay off our debt, hence increasing CAD.
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What would be the effect of a worsening CAD on the exchange rate?  Explain, using a demand and supply diagram.  (Remember, a CAD indicates an increased supply of $A relative to demand)



What would be the effect of a worsening CAD on net foreign debt

Causes of Net Foreign Debt
NFD is what we owe the world less what the world owes us.  This figure is shown as a percentage of GDP.  

Australia’s level of NFD has increased steadily over the last 25 years as shown in the table below:

	
	Value of net foreign debt
	Net Foreign debt as a % of GDP

	1981-1982
	$18.4bn
	Approx 16%

	2002-2003
	$358.8bn
	47.7%


Australias NFD to GDP is one of the highest in the world.
In the past, several factors have affectedthe size of the NFD

· Past CAD’s

· Borrowing by government and private sectors

· Exchange rate fluctuations

The amount of foreign debt is the total of that past CAD’s that were financed from borrowings from overseas (rather than foreign investment).

Public and private sector foreign debt

Foreign debt can be divided into public and private sectors.

The public sector relates to governments (commonwealth, state, local, as well as Government business enterprises).  When these governments ran a deficit budget they needed to finance the deficit from somewhere, this was generally overseas.  This debt has now largely been paid off.

Private sector debt is mainly done by large companies borrowing overseas in order to raise money for financing business expansion.  This kind of debt is more desirable than public sector debt because businesses are more efficient and are driven by a profit motive and hence more likely to be efficient and able to pay back loans with ease.  It is also desirable because businesses generally invest their money rather than spend it on consumption goods.
As most of our debt is in $US, as the exchange rate increases, the level of our debt decreases without us having to do anything.  This appreciation of the $A decreases our CAD.
Effects of External imbalance
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Is the CAD a problem?


Positives


Negatives

Is NFD a problem?


Positives


Negatives
Capital Account





Current Account





Balance of Payments





External balance is important because it means that it is more likely that the other objectives of full employment, price stability and economic growth can be achieved.  External Imbalance has the opposite effect as it acts as a constraint.





Financial Account





Goods inflows 


– 


Goods outflows





Service inflows 


– 


Service outflows





Income inflows 


– 


Income outflows





Current transfers inflows 


– 


Current transfers outflows





Net goods





Net services





Balance on goods and services





Net Income





Net Current transfers





Balance on Current Account





An increase in tourists to Australia





Qantas wants to buy 10 new planes from the US





Speculators think the $A will go down





A period of high inflation in Australia





Interest rates increase





The RBA is concerned that the $A is falling too rapidly





A fall in world commodity prices





A slowdown in the world economy





An increase in beef exports to the US





A decrease in Japanese investments in Australia








